



## ON A CERTAIN SUBCLASS OF ANALYTIC FUNCTIONS DEFINED BY DIFFERENTIAL OPERATOR

B.VENKATESWARLU, P.THIRUPATHI REDDY, ADITYA LAGAD AND RAJUKUMAR  
INGLE

ABSTRACT. The study of operators plays an essential role in Mathematics, especially in Geometric Function Theory in Complex Analysis and its related fields. Many derivative and integral operators can be written in terms of convolution of certain analytic functions. The class of analytic functions, which has an essential place in the theory of geometric functions, has been studied by many researchers before. This topic still maintains its popularity today. In this work, we introduce and investigate a new subclass of analytic functions in the open unit disc  $E$  with negative coefficients. The object of the present paper is to determine the coefficient estimates, extreme points, integral means inequalities and subordination results for this class.

### 1. INTRODUCTION

Let  $\mathcal{A}$  denote the class of all functions  $u(z)$  of the form

$$u(z) = z + \sum_{n=2}^{\infty} a_n z^n \quad (1)$$

in the open unit disc  $E = \{z \in \mathbb{C} : |z| < 1\}$ . Let  $S$  be the subclass of  $\mathcal{A}$  consisting of univalent functions and satisfy the following usual normalization condition  $u(0) = u'(0) - 1 = 0$ . We denote by  $S$  the subclass of  $\mathcal{A}$  consisting of functions  $u(z)$  which are all univalent in  $E$ . A function  $u \in \mathcal{A}$  is a starlike function of the order  $v, 0 \leq v < 1$ , if it satisfy

$$\Re \left\{ \frac{zu'(z)}{u(z)} \right\} > v, (z \in E). \quad (2)$$

We denote this class with  $S^*(v)$ .

---

2020 *Mathematics Subject Classification.* 30C45, 30C50 .

*Key words and phrases.* analytic function, uniformly starlike function, coefficient estimate, subordination.

Submitted August, 12, 2024. Revised Sep., 18, 2024. Accepted Jan. 28, 2025.

A function  $u \in \mathcal{A}$  is a convex function of the order  $\nu, 0 \leq \nu < 1$ , if it satisfy

$$\Re \left\{ 1 + \frac{zu''(z)}{u'(z)} \right\} > \nu, (z \in E). \quad (3)$$

We denote this class with  $K(\nu)$ .

Let  $T$  denote the class of functions analytic in  $E$  that are of the form

$$u(z) = z - \sum_{n=2}^{\infty} a_n z^n, (a_n \geq 0, z \in E) \quad (4)$$

and let  $T^*(\nu) = T \cap S^*(\nu)$ ,  $C(\nu) = T \cap K(\nu)$ . The class  $T^*(\nu)$  and allied classes possess some interesting properties and have been extensively studied by Silverman [12] and Orhan [9].

Let  $u$  be a function in the class  $\mathcal{A}$ . We define the following differential operator introduced by Deniz and Ozkan [3] and others (see [4, 5, 6]).

$$\begin{aligned} \mathfrak{D}_\lambda^0 u(z) &= u(z) \\ \mathfrak{D}_\lambda^1 u(z) &= \mathfrak{D}_\lambda u(z) = \lambda z^3 u'''(z) + (2\lambda + 1)z^2 u''(z) + zu'(z) \\ \mathfrak{D}_\lambda^2 u(z) &= \mathfrak{D}_\lambda(\mathfrak{D}_\lambda^1 u(z)) \\ &\vdots \\ &\vdots \\ &\vdots \\ \mathfrak{D}_\lambda^m u(z) &= \mathfrak{D}_\lambda(\mathfrak{D}_\lambda^{m-1} u(z)), \end{aligned}$$

where  $\lambda \geq 0$  and  $m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$ . If  $u$  is given by (1), then from the definition of the operator  $\mathfrak{D}_\lambda^m u(z)$ , it is to see that

$$\mathfrak{D}_\lambda^m u(z) = z + \sum_{n=2}^{\infty} n^{2m} [\lambda(n-1) + 1]^m a_n z^n. \quad (5)$$

Many differential operators studied by various authors can be seen in the literature (see [1, 2, ?, 13]).

Denote by

$$\mathcal{R}^\delta := \frac{z}{(1-z)^{\delta+1}} * u(z), \quad (\delta \in \mathbb{N}_0)$$

then implies that

$$\mathcal{R}^\delta u(z) := \frac{z(z^{\delta-1}u(z))^\delta}{\delta!}, \quad (\delta \in \mathbb{N}_0).$$

The operator  $\mathcal{R}^\delta u$  is called Ruschweyh derivative operator [10]. Noor [8] defined and investigated an integral operator  $\mathcal{N}^\delta : \mathcal{A} \rightarrow \mathcal{A}$  analogous to  $\mathcal{R}^\delta u$  as follows:

Let  $u_\delta(z) := \frac{z}{(1-z)^{\delta+1}}$ ,  $\delta \in \mathbb{N}_0$  and  $u_\delta^{(-1)}$  be defined such that

$$u_\delta(z) * u_\delta^{(-1)}(z) = \frac{z}{1-z}.$$

Then

$$\mathcal{N}^\delta u(z) = u_\delta^{(-1)}(z) * u(z) = \left[ \frac{z}{(1-z)^{\delta+1}} \right]^{(-1)} * u(z) = z + \sum_{n=2}^{\infty} \frac{\Gamma(\delta+1)n!}{\Gamma(\delta+n)} a_n z^n := \zeta(z). \quad (6)$$

In [7], Kaziltepe et al. defined the following convolution operator:

$$\begin{aligned} \mathbb{D}_\lambda^0 u(z) &= u(z) \\ \mathbb{D}_\lambda^1 u(z) &= \mathbb{D}_\lambda u(z) \\ &= \lambda z^3 \zeta'''(z) + (2\lambda + 1)z^2 \zeta''(z) + z\zeta'(z) \\ &= z + \sum_{n=2}^\infty n^2 [\lambda(n-1) + 1] \frac{\Gamma(\delta+1)n!}{\Gamma(\delta+n)} a_n z^n \\ &\quad \vdots \\ \mathbb{D}_\lambda^m u(z) &= \mathbb{D}_\lambda(\mathbb{D}_\lambda^{m-1} u(z)), \quad (m \in \mathbb{N}). \end{aligned}$$

It can be easily seen that

$$\begin{aligned} \mathbb{D}_\lambda^m u(z) &= z + \sum_{n=2}^\infty n^{2m} [\lambda(n-1) + 1] \frac{\Gamma(\delta+1)n!}{\Gamma(\delta+n)} a_n z^n \\ &= z + \sum_{n=2}^\infty \Theta(n, m, \lambda, \delta) a_n z^n, \end{aligned} \tag{7}$$

where

$$\Theta(n, m, \lambda, \delta) = n^{2m} [\lambda(n-1) + 1] \frac{\Gamma(\delta+1)n!}{\Gamma(\delta+n)}, \tag{8}$$

where  $m, z \in \mathbb{N}_0$  and  $\lambda \geq 0$ . Now, by making use of the linear operator  $\mathbb{D}_\lambda^m u(z)$ , we define a new subclass of functions belonging to the class  $\mathcal{A}$ .

**Definition 1.1.** For  $0 \leq \hbar < 1, 0 \leq \sigma < 1$  and  $0 < \varsigma < 1$ , we let  $TS_\lambda^m(\hbar, \sigma, \varsigma)$  be the subclass of  $u$  consisting of functions of the form (4) and its geometrical condition satisfy

$$\left| \frac{\hbar \left( (\mathbb{D}_\lambda^m u(z))' - \frac{\mathbb{D}_\lambda^m u(z)}{z} \right)}{\sigma (\mathbb{D}_\lambda^m u(z))' + (1-\hbar) \frac{\mathbb{D}_\lambda^m u(z)}{z}} \right| < \varsigma, \quad z \in E,$$

where  $\mathbb{D}_\lambda^m u(z)$  is given by (7).

## 2. COEFFICIENT INEQUALITY

In the following theorem, we obtain a necessary and sufficient condition for function to be in the class  $TS_\lambda^m(\hbar, \sigma, \varsigma)$ .

**Theorem 2.1.** Let the function  $u$  be defined by (4). Then  $u \in TS_\lambda^m(\hbar, \sigma, \varsigma)$  if and only if

$$\sum_{n=2}^\infty [\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)] \Theta(n, m, \lambda, \delta) a_n \leq \varsigma(\sigma + (1 - \hbar)), \tag{9}$$

where  $0 < \varsigma < 1, 0 \leq \hbar < 1$  and  $0 \leq \sigma < 1$ . The result (9) is sharp for the function

$$u(z) = z - \frac{\varsigma(\sigma + (1 - \hbar))}{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)] \Theta(n, m, \lambda, \delta)} z^n, \quad n \geq 2.$$

*Proof.* Suppose that the inequality (9) holds true and  $|z| = 1$ . Then we obtain

$$\begin{aligned} & \left| \hbar \left( (\mathbb{D}_\lambda^m u(z))' - \frac{\mathbb{D}_\lambda^m u(z)}{z} \right) \right| - \varsigma \left| \sigma \left( (\mathbb{D}_\lambda^m u(z))' + (1 - \hbar) \frac{\mathbb{D}_\lambda^m u(z)}{z} \right) \right| \\ &= \left| -\hbar \sum_{n=2}^{\infty} (n-1) \Theta(n, m, \lambda, \delta) a_n z^{n-1} \right| \\ & \quad - \varsigma \left| \sigma + (1 - \hbar) - \sum_{n=2}^{\infty} (n\sigma + 1 - \hbar) \Theta(n, m, \lambda, \delta) a_n z^{n-1} \right| \\ & \leq \sum_{n=2}^{\infty} [\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)] \Theta(n, m, \lambda, \delta) a_n - \varsigma(\sigma + (1 - \hbar)) \\ & \leq 0. \end{aligned}$$

Hence, by maximum modulus principle,  $u \in TS_\lambda^m(\hbar, \sigma, \varsigma)$ . Now assume that  $u \in TS_\lambda^m(\hbar, \sigma, \varsigma)$  so that

$$\left| \frac{\hbar \left( (\mathbb{D}_\lambda^m u(z))' - \frac{\mathbb{D}_\lambda^m u(z)}{z} \right)}{\sigma (\mathbb{D}_\lambda^m u(z))' + (1 - \hbar) \frac{\mathbb{D}_\lambda^m u(z)}{z}} \right| < \varsigma, \quad z \in E.$$

Hence,

$$\left| \hbar \left( (\mathbb{D}_\lambda^m u(z))' - \frac{\mathbb{D}_\lambda^m u(z)}{z} \right) \right| < \varsigma \left| \sigma \left( (\mathbb{D}_\lambda^m u(z))' + (1 - \hbar) \frac{\mathbb{D}_\lambda^m u(z)}{z} \right) \right|.$$

Therefore, we get

$$\begin{aligned} & \left| -\sum_{n=2}^{\infty} \hbar(n-1) \Theta(n, m, \lambda, \delta) a_n z^{n-1} \right| \\ & < \varsigma \left| \sigma + (1 - \hbar) - \sum_{n=2}^{\infty} (n\sigma + 1 - \hbar) \Theta(n, m, \lambda, \delta) a_n z^{n-1} \right|. \end{aligned}$$

Thus,

$$\sum_{n=2}^{\infty} [\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)] \Theta(n, m, \lambda, \delta) a_n \leq \varsigma(\sigma + (1 - \hbar))$$

and this completes the proof.  $\square$

**Corollary 2.0.** *Let the function  $u \in TS_\lambda^m(\hbar, \sigma, \varsigma)$ . Then*

$$a_n \leq \frac{\varsigma(\sigma + (1 - \hbar))}{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)] \Theta(n, m, \lambda, \delta)} z^n, \quad n \geq 2.$$

### 3. DISTORTION AND COVERING THEOREM

We introduce the growth and distortion theorems for the functions in the class  $TS_\lambda^m(\hbar, \sigma, \varsigma)$ .

**Theorem 3.2.** *Let the function  $u \in TS_\lambda^m(\hbar, \sigma, \varsigma)$ . Then*

$$\begin{aligned} |z| - \frac{\varsigma(\sigma + (1 - \hbar))}{\Theta(2, m, \lambda, \delta)[\hbar + \varsigma(2\sigma + 1 - \hbar)]} |z|^2 &\leq |u(z)| \\ &\leq |z| + \frac{\varsigma(\sigma + (1 - \hbar))}{\Theta(2, m, \lambda, \delta)[\hbar + \varsigma(2\sigma + 1 - \hbar)]} |z|^2. \end{aligned}$$

*The result is sharp and attained*

$$u(z) = z - \frac{\varsigma(\sigma + (1 - \hbar))}{\Theta(2, m, \lambda, \delta)[\hbar + \varsigma(2\sigma + 1 - \hbar)]} z^2.$$

*Proof.*

$$|u(z)| = \left| z - \sum_{n=2}^{\infty} a_n z^n \right| \leq |z| + \sum_{n=2}^{\infty} a_n |z|^n \leq |z| + |z|^2 \sum_{n=2}^{\infty} a_n.$$

By Theorem 2.1, we get

$$\sum_{n=2}^{\infty} a_n \leq \frac{\varsigma(\sigma + (1 - \hbar))}{[\hbar + \varsigma(2\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}. \tag{10}$$

Thus,

$$|u(z)| \leq |z| + \frac{\varsigma(\sigma + (1 - \hbar))}{\Theta(2, m, \lambda, \delta)[\hbar + \varsigma(2\sigma + 1 - \hbar)]} |z|^2.$$

Also,

$$\begin{aligned} |u(z)| &\geq |z| - \sum_{n=2}^{\infty} a_n |z|^n \\ &\geq |z| - |z|^2 \sum_{n=2}^{\infty} a_n \\ &\geq |z| - \frac{\varsigma(\sigma + (1 - \hbar))}{\Theta(2, m, \lambda, \delta)[\hbar + \varsigma(2\sigma + 1 - \hbar)]} |z|^2. \end{aligned}$$

□

**Theorem 3.3.** *Let  $u \in TS_{\lambda}^m(\hbar, \sigma, \varsigma)$ . Then*

$$1 - \frac{2\varsigma(\sigma + (1 - \hbar))}{\Theta(2, m, \lambda, \delta)[\hbar + \varsigma(2\sigma + 1 - \hbar)]} |z| \leq |u'(z)| \leq 1 + \frac{2\varsigma(\sigma + (1 - \hbar))}{\Theta(2, m, \lambda, \delta)[\hbar + \varsigma(2\sigma + 1 - \hbar)]} |z|$$

*with equality for*

$$u(z) = z - \frac{2\varsigma(\sigma + (1 - \hbar))}{\Theta(2, m, \lambda, \delta)[\hbar + \varsigma(2\sigma + 1 - \hbar)]} z^2.$$

*Proof.* Notice that

$$\begin{aligned} &\Theta(2, \delta, \alpha, \beta)[\hbar + \varsigma(2\sigma + 1 - \hbar)] \sum_{n=2}^{\infty} n a_n \\ &\leq \sum_{n=2}^{\infty} n[\hbar(n - 1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta) a_n \\ &\leq \varsigma(\sigma + (1 - \hbar)), \end{aligned} \tag{11}$$

from Theorem 2.1. Thus,

$$\begin{aligned} |u'(z)| &= \left| 1 - \sum_{n=2}^{\infty} n a_n z^{n-1} \right| \\ &\leq 1 + \sum_{n=2}^{\infty} n a_n |z|^{n-1} \\ &\leq 1 + |z| \sum_{n=2}^{\infty} n a_n \\ &\leq 1 + |z| \frac{2\varsigma(\sigma + (1 - \hbar))}{\Theta(2, m, \lambda, \delta)[\hbar + \varsigma(2\sigma + 1 - \hbar)]}. \end{aligned} \tag{12}$$

On the other hand,

$$\begin{aligned}
 |u'(z)| &= \left| 1 - \sum_{n=2}^{\infty} na_n z^{n-1} \right| \\
 &\geq 1 - \sum_{n=2}^{\infty} na_n |z|^{n-1} \\
 &\geq 1 - |z| \sum_{n=2}^{\infty} na_n \\
 &\geq 1 - |z| \frac{2\zeta(\sigma + (1 - \hbar))}{\Theta(2, m, \lambda, \delta)[\hbar + \zeta(2\sigma + 1 - \hbar)]}. \tag{13}
 \end{aligned}$$

Combining (12) and (13), we get the result.  $\square$

#### 4. RADII OF STARLIKENESS, CONVEXITY AND CLOSE-TO-CONVEXITY

In the following theorems, we obtain the radii of starlikeness, convexity and close-to-convexity for the class  $TS_{\lambda}^m(\hbar, \sigma, \zeta)$ .

**Theorem 4.4.** *Let  $u \in TS_{\lambda}^m(\hbar, \sigma, \zeta)$ . Then  $u$  is starlike in  $|z| < R_1$  of order  $\rho$ ,  $0 \leq \rho < 1$ , where*

$$R_1 = \inf_n \left\{ \frac{(1 - \rho)(\hbar(n - 1) + \zeta(n\sigma + 1 - \hbar))\Theta(n, m, \lambda, \delta)}{(n - \rho)\zeta(\sigma + (1 - \hbar))} \right\}^{\frac{1}{n-1}}, \quad n \geq 2. \tag{14}$$

*Proof.*  $u$  is starlike of order  $\rho$ ,  $0 \leq \rho < 1$  if

$$\Re \left\{ \frac{zu'(z)}{u(z)} \right\} > \rho.$$

Thus, it is enough to show that

$$\left| \frac{zu'(z)}{u(z)} - 1 \right| = \left| \frac{-\sum_{n=2}^{\infty} (n-1)a_n z^{n-1}}{1 - \sum_{n=2}^{\infty} a_n z^{n-1}} \right| \leq \frac{\sum_{n=2}^{\infty} (n-1)a_n |z|^{n-1}}{1 - \sum_{n=2}^{\infty} a_n |z|^{n-1}}.$$

Thus,

$$\left| \frac{zu'(z)}{u(z)} - 1 \right| \leq 1 - \rho \text{ if } \sum_{n=2}^{\infty} \frac{(n - \rho)}{(1 - \rho)} a_n |z|^{n-1} \leq 1. \tag{15}$$

Hence, by Theorem 2.1, (15) will be true if

$$\frac{n - \rho}{1 - \rho} |z|^{n-1} \leq \frac{(\hbar(n - 1) + \zeta(n\sigma + 1 - \hbar))\Theta(n, m, \lambda, \delta)}{\zeta(\sigma + (1 - \hbar))}$$

or if

$$|z| \leq \left[ \frac{(1 - \rho)(\hbar(n - 1) + \zeta(n\sigma + 1 - \hbar))\Theta(n, m, \lambda, \delta)}{(n - \rho)\zeta(\sigma + (1 - \hbar))} \right]^{\frac{1}{n-1}}, \quad n \geq 2. \tag{16}$$

The theorem follows easily from (16).  $\square$

**Theorem 4.5.** *Let  $u \in TS_{\lambda}^m(\hbar, \sigma, \zeta)$ . Then  $u$  is convex in  $|z| < R_2$  of order  $\rho$ ,  $0 \leq \rho < 1$ , where*

$$R_2 = \inf_n \left\{ \frac{(1 - \rho)(\hbar(n - 1) + \zeta(n\sigma + 1 - \hbar))\Theta(n, m, \lambda, \delta)}{n(n - \rho)\zeta(\sigma + (1 - \hbar))} \right\}^{\frac{1}{n-1}}, \quad n \geq 2. \tag{17}$$

*Proof.*  $u$  is convex of order  $\rho$ ,  $0 \leq \rho < 1$  if

$$\Re \left\{ 1 + \frac{zu''(z)}{u'(z)} \right\} > \rho.$$

Thus, it is enough to show that

$$\left| \frac{zu''(z)}{u'(z)} \right| = \left| \frac{-\sum_{n=2}^{\infty} n(n-1)a_n z^{n-1}}{1 - \sum_{n=2}^{\infty} na_n z^{n-1}} \right| \leq \frac{\sum_{n=2}^{\infty} n(n-1)a_n |z|^{n-1}}{1 - \sum_{n=2}^{\infty} na_n |z|^{n-1}}.$$

Thus,

$$\left| \frac{zu''(z)}{u'(z)} \right| \leq 1 - \rho \text{ if } \sum_{n=2}^{\infty} \frac{n(n-\rho)}{(1-\rho)} a_n |z|^{n-1} \leq 1. \tag{18}$$

Hence, by Theorem 2.1, (18) will be true if

$$\frac{n(n-\rho)}{1-\rho} |z|^{n-1} \leq \frac{(\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar))\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))}$$

or if

$$|z| \leq \left[ \frac{(1-\rho)(\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar))\Theta(n, m, \lambda, \delta)}{n(n-\rho)\varsigma(\sigma + (1 - \hbar))} \right]^{\frac{1}{n-1}}, n \geq 2. \tag{19}$$

The theorem follows easily from (19). □

**Theorem 4.6.** Let  $u \in TS_{\lambda}^m(\hbar, \sigma, \varsigma)$ . Then  $u$  is close-to-convex in  $|z| < R_3$  of order  $\rho$ ,  $0 \leq \rho < 1$ , where

$$R_3 = \inf_n \left\{ \frac{(1-\rho)(\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar))\Theta(n, m, \lambda, \delta)}{n\varsigma(\sigma + (1 - \hbar))} \right\}^{\frac{1}{n-1}}, n \geq 2. \tag{20}$$

*Proof.*  $u$  is close-to-convex of order  $\rho$ ,  $0 \leq \rho < 1$  if

$$\Re \{u'(z)\} > \rho.$$

Thus, it is enough to show that

$$|u'(z) - 1| = \left| -\sum_{n=2}^{\infty} na_n z^{n-1} \right| \leq \sum_{n=2}^{\infty} na_n |z|^{n-1}.$$

Thus,

$$|u'(z) - 1| \leq 1 - \rho \text{ if } \sum_{n=2}^{\infty} \frac{n}{(1-\rho)} a_n |z|^{n-1} \leq 1. \tag{21}$$

Hence, by Theorem 2.1, (21) will be true if

$$\frac{n}{1-\rho} |z|^{n-1} \leq \frac{(\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar))\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))}$$

or if

$$|z| \leq \left[ \frac{(1-\rho)(\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar))\Theta(n, m, \lambda, \delta)}{n\varsigma(\sigma + (1 - \hbar))} \right]^{\frac{1}{n-1}}, n \geq 2. \tag{22}$$

The theorem follows easily from (22). □

## 5. EXTREME POINTS

In the following theorem, we obtain extreme points for the class  $TS_\lambda^m(\hbar, \sigma, \varsigma)$ .

**Theorem 5.7.** Let  $u_1(z) = z$  and

$$u_n(z) = z - \frac{\varsigma(\sigma + (1 - \hbar))}{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)} z^n, \text{ for } n = 2, 3, \dots$$

Then  $u \in TS_\lambda^m(\hbar, \sigma, \varsigma)$  if and only if it can be expressed in the form

$$u(z) = \sum_{n=1}^{\infty} \theta_n u_n(z), \text{ where } \theta_n \geq 0 \text{ and } \sum_{n=1}^{\infty} \theta_n = 1.$$

*Proof.* Assume that  $u(z) = \sum_{n=1}^{\infty} \theta_n u_n(z)$ , hence, we get

$$u(z) = z - \sum_{n=2}^{\infty} \frac{\varsigma(\sigma + (1 - \hbar))\theta_n}{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)} z^n.$$

Now,  $u \in TS_\lambda^m(\hbar, \sigma, \varsigma)$ , since

$$\begin{aligned} & \sum_{n=2}^{\infty} \frac{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))} \\ & \times \frac{\varsigma(\sigma + (1 - \hbar))\theta_n}{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)} \\ & = \sum_{n=2}^{\infty} \theta_n = 1 - \theta_1 \leq 1. \end{aligned}$$

Conversely, suppose  $u \in TS_\lambda^m(\hbar, \sigma, \varsigma)$ . Then we show that  $u$  can be written in the form

$$\sum_{n=1}^{\infty} \theta_n u_n(z).$$

Now  $u \in TS_\lambda^m(\hbar, \sigma, \varsigma)$  implies from Theorem 2.1

$$a_n \leq \frac{\varsigma(\sigma + (1 - \hbar))}{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}.$$

Setting  $\theta_n = \frac{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))} a_n$ ,  $n = 2, 3, \dots$

and  $\theta_1 = 1 - \sum_{n=2}^{\infty} \theta_n$ , we obtain  $u(z) = \sum_{n=1}^{\infty} \theta_n u_n(z)$ .  $\square$

## 6. HADAMARD PRODUCT

In the following theorem, we obtain the convolution result for functions belongs to the class  $TS_\lambda^m(\hbar, \sigma, \varsigma)$ .

**Theorem 6.8.** Let  $u, g \in TS(\hbar, \sigma, \varsigma, \vartheta)$ . Then  $u * g \in TS(\hbar, \sigma, \varsigma, \vartheta)$  for

$$u(z) = z - \sum_{n=2}^{\infty} a_n z^n, g(z) = z - \sum_{n=2}^{\infty} b_n z^n \text{ and } (u * g)(z) = z - \sum_{n=2}^{\infty} a_n b_n z^n,$$

where

$$\zeta \geq \frac{\varsigma^2(\sigma + (1 - \hbar))\hbar(n-1)}{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]^2\Theta(n, m, \lambda, \delta) - \varsigma^2(\sigma + (1 - \hbar))(n\sigma + 1 - \hbar)}.$$

*Proof.*  $u \in TS_\lambda^m(\hbar, \sigma, \varsigma)$  and so

$$\sum_{n=2}^{\infty} \frac{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))} a_n \leq 1 \quad (23)$$



and

$$\sum_{n=2}^{\infty} \frac{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))} b_n \leq 1. \tag{24}$$

We have to find the smallest number  $\zeta$  such that

$$\sum_{n=2}^{\infty} \frac{[\hbar(n-1) + \zeta(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}{\zeta(\sigma + (1 - \hbar))} a_n b_n \leq 1. \tag{25}$$

By Cauchy-Schwarz inequality

$$\sum_{n=2}^{\infty} \frac{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))} \sqrt{a_n b_n} \leq 1. \tag{26}$$

Therefore, it is enough to show that

$$\begin{aligned} & \frac{[\hbar(n-1) + \zeta(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}{\zeta(\sigma + (1 - \hbar))} a_n b_n \\ & \leq \frac{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))} \sqrt{a_n b_n}. \end{aligned}$$

That is

$$\sqrt{a_n b_n} \leq \frac{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\zeta}{[\hbar(n-1) + \zeta(n\sigma + 1 - \hbar)]\varsigma}. \tag{27}$$

From (26),

$$\sqrt{a_n b_n} \leq \frac{\varsigma(\sigma + (1 - \hbar))}{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}.$$

Thus, it is enough to show that

$$\frac{\varsigma(\sigma + (1 - \hbar))}{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)} \leq \frac{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\zeta}{[\hbar(n-1) + \zeta(n\sigma + 1 - \hbar)]\varsigma}$$

which simplifies to

$$\zeta \geq \frac{\varsigma^2(\sigma + (1 - \hbar))\hbar(n-1)}{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]^2\Theta(n, m, \lambda, \delta) - \varsigma^2(\sigma + (1 - \hbar))(n\sigma + 1 - \hbar)}.$$

□

### 7. CLOSURE THEOREMS

We shall prove the following closure theorems for the class  $TS_{\lambda}^m(\hbar, \sigma, \varsigma)$ .

**Theorem 7.9.** *Let  $u_j \in TS_{\lambda}^m(\hbar, \sigma, \varsigma), j = 1, 2, \dots, s$ . Then*

$$g(z) = \sum_{j=1}^s c_j u_j(z) \in TS_{\lambda}^m(\hbar, \sigma, \varsigma).$$

For  $u_j(z) = z - \sum_{n=2}^{\infty} a_{n,j} z^n$ , where  $\sum_{j=1}^s c_j = 1$ .

*Proof.*

$$\begin{aligned} g(z) &= \sum_{j=1}^s c_j u_j(z) \\ &= z - \sum_{n=2}^{\infty} \sum_{j=1}^s c_j a_{n,j} z^n \\ &= z - \sum_{n=2}^{\infty} e_n z^n, \end{aligned}$$

where  $e_n = \sum_{j=1}^s c_j a_{n,j}$ . Thus,  $g(z) \in TS_\lambda^m(\hbar, \sigma, \varsigma)$  if

$$\sum_{n=2}^{\infty} \frac{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))} e_n \leq 1$$

that is, if

$$\begin{aligned} & \sum_{n=2}^{\infty} \sum_{j=1}^s \frac{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))} c_j a_{n,j} \\ &= \sum_{j=1}^s c_j \sum_{n=2}^{\infty} \frac{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))} a_{n,j} \\ &\leq \sum_{j=1}^s c_j = 1. \end{aligned}$$

□

**Theorem 7.10.** Let  $u, g \in TS_\lambda^m(\hbar, \sigma, \varsigma)$ . Then

$$h(z) = z - \sum_{n=2}^{\infty} (a_n^2 + b_n^2) z^n \in TS_\lambda^m(\hbar, \sigma, \varsigma), \text{ where}$$

$$\zeta \geq \frac{2\hbar(n-1)\varsigma^2(\sigma + (1 - \hbar))}{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]^2\Theta(n, m, \lambda, \delta) - 2\varsigma^2(\sigma + (1 - \hbar))(n\sigma + 1 - \hbar)}.$$

*Proof.* Since  $u, g \in TS_\lambda^m(\hbar, \sigma, \varsigma)$ , so Theorem 2.1 yields

$$\sum_{n=2}^{\infty} \left[ \frac{(\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar))\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))} a_n \right]^2 \leq 1$$

and

$$\sum_{n=2}^{\infty} \left[ \frac{(\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar))\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))} b_n \right]^2 \leq 1.$$

We obtain from the last two inequalities

$$\sum_{n=2}^{\infty} \frac{1}{2} \left[ \frac{(\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar))\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))} \right]^2 (a_n^2 + b_n^2) \leq 1. \quad (28)$$

But  $h(z) \in TS(\hbar, \sigma, \zeta, q, m)$ , if and only if

$$\sum_{n=2}^{\infty} \frac{[\hbar(n-1) + \zeta(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}{\zeta(\sigma + (1 - \hbar))} (a_n^2 + b_n^2) \leq 1, \quad (29)$$

where  $0 < \zeta < 1$ , however (28) implies (29) if

$$\begin{aligned} & \frac{[\hbar(n-1) + \zeta(n\sigma + 1 - \hbar)]\Theta(n, m, \lambda, \delta)}{\zeta(\sigma + (1 - \hbar))} \\ &\leq \frac{1}{2} \left[ \frac{(\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar))\Theta(n, m, \lambda, \delta)}{\varsigma(\sigma + (1 - \hbar))} \right]^2. \end{aligned}$$

Simplifying, we get

$$\zeta \geq \frac{2\hbar(n-1)\varsigma^2(\sigma + (1 - \hbar))}{[\hbar(n-1) + \varsigma(n\sigma + 1 - \hbar)]^2\Theta(n, m, \lambda, \delta) - 2\varsigma^2(\sigma + (1 - \hbar))(n\sigma + 1 - \hbar)}.$$

□

## REFERENCES

- [1] K. Al Shaqsi and M. Darus, On certain subclass of analytic functions with negative coefficients, *Appl. Math. Sci.*, 1, (2007), 1121-1128.
- [2] M. K. Aouf, H. Silverman and H. M. Srivastava, Some families of linear operators associated with certain subclasses of multivalent functions, *Comput. Math. Appl.*, 55, (2008), 535-549.
- [3] E. Deniz and H. Orhan, Some properties of certain subclasses of analytic functions with negative coefficients by using generalized Ruscheweyh derivative operator, *Czechoslovak Math. J.*, 60(3), (2010), 699-713.
- [4] E. Deniz and Y. Ozkan, Subclass of analytic functions defined by a new differential operator, *Acta Univ. Apulensis*, 40(7), (2014), 85-95.
- [5] E. Deniz, M. Caglar and Y. Ozkan, Some properties for certain subclasses of analytic functions defined by a general differential operator, *Asian-Euro. J. of Math.*, 13(1), (2020), 2050134 (12 pages), World Scientific Publishing Company.
- [6] E. Deniz and Y. Ozkan, and L.I.Cotirla, Subclasses of uniformly convex functions with negative coefficients based on Deniz-Ozkan differential operator, *Axioms*, 11, (2022), 731.
- [7] A. Kiziltepe, E. Deniz and S. Kazimogulu, Fekete Szego problem for certain subclasses of analytic functions associated with the combination of differential operators, *Conference Proceedings Science and Technology*, 6(1), (2023), 176-184.
- [8] K.I. Noor, On new classes of integral operators, *J. Nat. Geometry*, 16, (1999), 71-80.
- [9] H. Orhan, A new class of analytic functions with negative coefficients, *Appl. Math. Comput.*, 138(2), (2003), 531-543.
- [10] S. Ruscheweyh, New criteria for univalent functions, *Proc. Amer. Math. Soc.*, 49, (1975), 109-115.
- [11] G. S. Salagean, Subclasses of Univalent Functions, *Lecture Notes in Mathematics*, Vol. 1013 (Springer-Verlag, Berlin, (1983), pp. 362-372.
- [12] H. Silverman, Univalent functions with negative coefficients, *Proc. Amer. Math. Soc.*, 51(1), (1975), 109-116.
- [13] G. Sujatha, K. K. Viswanathan, B. Venkateswarlu, H. Niranjana and P. Thirupathi Reddy, Certain subclass of analytic functions defined by q-analogue differential operator, *Math. and Stat.*, 12(5) (2024), 465 - 474.

B.VENKATESWARLU

DEPARTMENT OF MATHEMATICS, GSS, GITAM UNIVERSITY, BENGALURU RURAL- 562 163, KARNATAKA, INDIA (CORRESPONDING AUTHOR).

*Email address:* [bvlmaths@gmail.com](mailto:bvlmaths@gmail.com)

P.THIRUPATHI REDDY

DEPARTMENT OF MATHEMATICS, D.R.K. INSTITUTE OF SCIENCE AND TECHNOLOGY, HYDERABAD-500 043, TELANGANA, INDIA.

*Email address:* [reddypt2@gmail.com](mailto:reddypt2@gmail.com)

ADITYA LAGAD

DEPARTMENT OF MATHEMATICS, N.E.S.SCIENCE COLLEGE, NANDED - 431 605, MAHARASHTRA, INDIA.

RAJUKUMAR INGLE

DEPARTMENT OF MATHEMATICS, BAHIRJI SMARAK MAHAVIDYALAY, BASHMATHNAGAR - 431 512, MAHARASHTRA, INDIA.